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(—2)D —7= gD 49—
(7 +6= (-3 +(-8)=
(—8)° +(-7) = 1942 =
(-2)° —(—4) = 70D —(-8) =
50D -4 = -7 — 6=
52410 = (_5)0 —(-3) =
7'+ (-2) = 9D — (—6) =
2’ -8 = 2D 4 (-3)=
(-8)" +5= (—4)> +(-2) =
D=8 = £ 6=
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(D =7=(3)=(T73) 8 +9= =9
(—=7)* +6 =155 (—3)* +(-8) =1
(—8)? +(-7) = 57 1°+2=3
. 57 1
(-2)’ —(—4) =8 70— (-8) == =85
. 19 4 293
5t ”—4=(—g)=(—3g) N -6= (—%9) = 549)
52+10=35 (5 —(-3)=4
. 55 1
7+ (-2) = (-1) 9V~ (-6)= 7 =65
. 11 3
~8=(-4) 24 ()= ()= (2
21 1
(8P +5="r =54 (—4)2 +(-2) = 14
. 55 _6
NV =(8) == =73 £-6=10
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